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INSTRUCTIONS

Before attempting to answer any question you should write your examination number in the space provided
on top of this page.

This baoklet is to be returned to the Supervisor at the end of this examination period.

The total time allowed for this paper is 2 hours. You are allowed five minutes to read these instructions and
to write your examination number on top of this page. You will then get 10 minutes to look through the
questions but may not write down any answers during this time. You will then have 100 minutes in which
to answer the questions and the remaining five minutes is for final checking.

You will be given one mark for each question answered correctly in Section One and two marks for each
question answered correctly in Section Two.

Four suggested answers, A, B, C and D, are given for each question and only one of these is correct. You are

required to select the correct response and to record it by encircling the letter opposite the right answer as
shown in the following item:

You will not get credit for any answer unless it is marked in this way. No credit will be given if more than
one response is thus marked. However if you make a mistake you may cancel the wrong answer by
putting an X across it Lhus:@é

Answer as many questions as you can. If you find a question too difficult go on to the next, but go back and
attempt it later if you have sufficient time and then choose the response which you judge most likely
to be correct.

If you wish to do any calculations or other work you may do it in this booklet but do not do it on the left hand
side where the letters A, B, C and D appear.
You may also carry out calculations on paper available from the Supervisor.

The official Mathematical Table book may be used in answering this paper. Ask the Supervisor for the
tables when you need them.

DO NOT TURN THIS PAGE UNTIL YOU ARE TOLD TO DO SO.
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-cTION ONE

1. The highest common divisor of 6, 12 and 18 is

3
6
18
36

vowy»

is
peed in metres per second

2.  An object travels 3600 m in 1 hour. Its average s

1
2
3
3

vowy

6

3. Two sevenths (§) of a number is 50, the number is

A. 25
B. 75
C. 175
D. 225

4, X=1{a b c db Y=1{d e [t Then (X N Y)is

Dows
RN -

5. The square root of 133 is

3.647
11.53
36.47
66.5

vowe

Which of the following is the sum of the first five odd numbers?

A. 15
B. 25
C. 28
D. 30

Using the usual calculations the value of 48 - 36 + 6 + 4 x 3 is

N

Sowe
®

9. A man 1.9 m tall casts a shadow of 1.5 m. In exactly the same conditi
tio :
shadow of length : ns a tree 9.5 m tall will cast a

6.1 m
7.5m
9.1 m
129 m

Dowe



10.

11.

13.

14.

15

16.

17.

18.

Page II

(4yY)* is
A. 8y?
B. 8y"®
C. 16y3
D. 16p"

The solution set of (x + 5)(x-8) = 0 is

15, 8¢
15,-8
41-5,8;
+=5-8}

cow>

When (x — 4} is multiplied by (x + 4) the answer is

A x*-8
B. x*-16
C. x*—8x + 16
D. x?+8x + 16

The factors of a? + 6a — 27 are

. la - 9)a - 3)

. la -9)a + 3)
. la + 9)a-3)
. la + 9a + 3)

Cnow>

Given that m = 3, n = -3 and p = 0 which one of the following statements is true.

mxn=29
m+n=1
m+n+p==6
. plm + n)=0

oWy

h is a divisor of which of the following

A hx*+h
B. h? + x*
C. hx +x
D. hx! + hx + 4

The sum of the binary numbers 1001 and 11101 is

10110

101110
100110
110110

gowp

A boy's pocket money is increased by 25%. If it was 30p, his pocket money now is

24p
36p
. 374p
. 5bp

vowp

161 16.1 .
If = = 7thenthe value Of_'—o.zs is

A. 0.07
B. 0.7
c. 7
D. 70
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19. The average weight of four objects is 5 kg. If a fifth object is added then the average weight becomes 7 kg,
The weight of the fifth object is

A. 6 kg.
B. 7kg.
C. 12 kg.
D. 15 kg.

20. [480 is divided among R, T and S. If R gets 4 and T gets 4 then § gets

£120
£160
£200
. £280

cows

21. A joinery firm employs 60 craftsmen. One foreman is employed to oversee every 20 craftsmen. One
/ apprentice is also taken on for every 5 craftsmen, What is the total number of people employed by the firm?

A. 67
B. 75
C. 85
D. 87

22. If x = 3a - 2b and y = 4b - a then 2x - 3y is equal to

A. 3a + 8b
B. 3a - 16b
C. 9a + 8b
D. 9a - 16b

23.  Which of the following graphs represent set M where M = { x| 2<x <7}

H'OIE-}Hré'?F
B. =5 v v 57
c ort__zi.ff%x
D i

24, If two distinct lines M and N are parallel which one of the following is true

A. M =N

BMnN:qj
C. MUN-=9¢
D. MN N =g¢

25. The image of a parallelogram under parallel projection is

. A point

. A line segment
A triangle

. A parallelogram

Cows

26. In which one of the following is the line T an axis of symmetry of theset P U R.

T T 7

—T"
o) ¢ e B e B | ¢ B,
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27. 3 apples cost the same as 4
oran
“n&es. A person buys 6 apples and 8 oranges for £1.44. The cost of an apple is

A. 7p
B. 9p
C. 10p
D. 12p

(=

The above pie-chart re
res
i R’ e sFt)ud ents the number of students who play soccer, gaelic football or hurling in a
ents. How many students play hurling. '

A, 60
B. 100
C. 120
D. 180

29. Given that log 0.31 = T.4914 ,
. , then logf0.31 is

0. Agi
3 girl worked for x weeks at £y per week. Her expenses for the period were £z. Her savings (in £'s were).

X+y+z
. XY +2Z
zZ - Xxy
. Xy -z

vowe

SECTION TWO

H=1{1,24,5, 6, 7,8 ; and X a third set such that XNH =2 -

31. Ifu=-1,2,3,45,6,7,8/,
12,3 HL H, 1IV. U\H

Then X is:— I.-2 -, IL
The only correct statements above are:

I and II
1, II and III
1, II and IV
All four

SEEES

32.  Which of the following statements are true
I.log 1.74 = 0.2405, 1I. Anti-log 1.74 =14.83, TIL (1.74)? = 30.28, 1V. {1.74 = 1.319

I and II
11I and IV
II and III
. ITand IV

S oW

on to which of the following pairs of simultaneous equations:

33. The couple (-1, 4) is the soluti
2x -y =-2 } V. —x +4y =17 }

1. x-2y=-9 1I. 3x+2y:5} III.
;Xsr};/:ﬁ }' 2x +y =68 x+3y=11 3x-y=-7
A. Iand IV
B. II and III
C. I and I

D. II and IV
OVER
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34. g, h, and k are three non-collinear pointsof 7. x is the centre of the couple (g, h). ~ Consider the following

II.
111.

statements:

The image of g by the translation g7is k.

Sx(g) = h.

g. x) 1 x k)

h is the image of k by the projection on gh parallel to kh.

A. Only I, IT and III are true statements.
B. Only [, II and IV are true statements.
C. Only II, III and IV are true statements.
D. All four statements are true.

35. Which of the following arrow diagrams represent functions?

7 M N _J/L M N

:LQ M N
<3
\“
=

/o \
A. I and III
B. II and IV
C. I and IV
D. II and III

36. Consider each of following statements

I
III.

(0.02)* = 0.04. II. 0.3 x 0.2 =0.06.

098 _4 IV. (0.1 x 0.5) x4 =20
0.3

A. I and IV are correct statements

B. II and III are correct statements
C. II and IV are correct statements
D. I and III are correct statements.

37. Given the formula

L.

R = Y2 which two of the following forms may be properly deduced from this formula:
yz = 2R + X. II.,z=2R +x—-X -
III. 2R =yz - X. IV. x =2R -yz.
A. II and IV
B. I and III
C. Iand 11
D. III and IV.

38. Consider the following statements:

I. If my

age now is x years, my age in 20 years time will be 20x.

I1. Ifpetrolis sold atyp per litre, the cost of 250 cm?®is —4K p.

III. A mother is five times as old as her daughter.

years

IV. If an article was bought for £

ago was z — 5 years.
m and sold at a profit of £n, the selling price was £(m + n).

Only I is a correct statement

Only II and IV are correct statements
Only I, II and IV are correct statements.
. All four are correct.

vow»

If the daughter is now z years of age, her mother's age five




39. R, S.Pand Q are foyr differeng lines

LEL 81 pag

R
II. R || SandS” P_Li
II. R | Pand s || =R || p

Which three of the following statements are true:

IV.R | Pang Py g :gvgyilh“glies that the lines R, P, S, and Q form a parallelogram
A. 1, 11, II1
B. I IL, 1v
C. II, 111, 1V
D. I, 111, 1v,

40. abcd is a rectangle as ip d

iagram wj
Consider the following g gram with o

the point of intersection of the diagonals.
atements,

R 2

1. §,(d) =b.
II. S [ac](c" =a.

III. The image of @ underag is

IV. The image of [bo] under a rotation of 180° centre o is [do].

I and II are correct statements
IIT and IV are correct statements
II and III are correct statements
. I and IV are correct statements

vowp

If you have time to do so, go back and check your work and correct any mistakes you have made.

DO NOT TAKE THIS BOOKLET OUT OF THE EXAMINATION ROOM




